
Chapter 1. Economics and the economy

Discussion Questions

1. When operating on the production possibility frontier, an economy’s finite resources are all employed, true or false?

2. What is the opportunity cost of undertaking an undergraduate degree? What is the opportunity cost of undertaking a PhD?

3. What is the difference between a command and a free market economy?

4. Identify products in your economy where there is both planned and market provision.

5. Clean air is not allocated to consumers by markets, nor planning. What are the implications of this for the consumption of clean air?

6. What is the difference between positive and normative economics? 
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Solutions to Discussion Questions

1. The answer to this question needs to draw a distinction between available and unavailable resources. The definition of the production possibility frontier is that it shows the maximum combinations of output that the economy can produce using all available resources. Some resources, such as child labour, may not be available because legislation may prevent their use (or for other reasons). Also some resources may not be known to exist, or are currently too expensive to gain access to. So, whilst resources are finite, this does not mean that an economy has exhausted all sources of such resources.

2. The opportunity cost of undertaking an undergraduate degree is the earnings foregone, from non-graduate employment, plus any additional living expenses, travel and books associated with being at university, and tuition fees. The opportunity cost of undertaking a PhD is the immediate loss of earnings from graduate employment, plus any additional expenses associated with studying for a PhD (such as travel, books, computing expenses) plus any fees that need to be paid.

3. In a command economy, decisions on what, how and for whom to produce are made in a central planning office. No economy relies entirely on command. A free market economy has no government intervention. Resources are allocated entirely through markets in which individuals pursue their own self-interest. Adam Smith argued that an ‘invisible hand’ would nevertheless allocate resources efficiently. Modern economies are mixed, relying mainly on the market but with a large dose of government intervention. The optimal level of intervention is hotly debated.

4. Health care, education and social security, such as pensions.

5. With no market price for clean air; and no restriction on access by governments, then clean air is over consumed. For example, when clean air is consumed by motorists, it is combined with fuel, ignited and turned into dirty polluted air. As a result the free consumption of clean air has implications for society in general.
6. Positive economics studies how the economy actually behaves. Normative economics recommends what should be done.
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